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Note : (i) Thereareinall 30 questions in this question paper. All questions are compulsory.
(i) Question No. I to 10 carry one mark each. Q. No. 11 to 15 carry two marks each, Q. No. 16 10

25 carry three marks each and Q. No. 26 to 30 carry six marks each.

(i) QuestionNo. 1 to 5 are multiple choice questions. Here four options are given in each guestion.
Write the correct option in your answer book.

(iv} There is no overall choice inquestion paper, however, an internai chorce has been provided in two
guestions of 2 marks, three questions of 3 marks and three questions of 6 marks each. You have to
attempt only one of the given choices in such questions.

{(v) Inquestions on construction, drawing should be ncat and exactly as per the given measurcment.

(vt) Useof calculator is not permitted.
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1. o= 9 ofvim g 2 -

In following. the rational number is--

i) 2 (i) = (iii) 0.375 G(v) S~ 3

b

feara §gug X+ 7x — 10 & TP S [OAIEE § —
Product o!'the zeroes of quadratic polynomial x*+ 7x+ 10 is -
i 1 Gy 7 (i) 10 (v) 17
3. fEurs Wi 2x! - dx ¢+ 3= 0 31 RAfdeee 8 -

The discriminant of quadratic equation 2x* - 4x + 3 =0 will be -

iy 24 i 16 (i) 3 (iv) -8
3. ga @ U favg ur et w9t o wah @ -

How many tangents can be there at a point of circle -

S m 2 a3 (iv) 4
5. VT gt & widdeal el 8 -

The probability of impossible event is --
(i 0 (i) 1 (iiy -1 (iv) oo

6. TR SO (AP L4710 ... &1 10U U ST BT |
Find the 10th term of ALP. 1, 4.7, 10............ .

3
7. ﬂﬁsim\--';iﬁ cos A BT AH TG BINT |

-

-
IfsinA= s then calculale cos A,

N AD 2
8 i # DI BC a9 %)E:: 21 7f2 EC=6 ¥4 & @ AL F@ PR 2
I
AD 2 _
In the figure, DE i BC and OB =— IfEC = 6 cm, find AL i

wod duluopIeOo@ N Mmm//:diy

9. Sge 7 9 3R YR T 10 W I Sod P J1ATH I0a ity |

Find the volume of a cylinder having height 7 cm and base diameter 10 cm.
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= gl & x @1 A g e - 1
Find the vaiue of x in tollowing table -

ug CIETIEGH LELIICIETIEG!]

Term Frequency Cumulative Frequency

2 6 6

4 20 26

6 24 50

8 28 X

i0 15 93

a

b
1. m;jmi A e aR T AT 5 e YR R g g B e g

14.

, Hﬁicose— ?ITcothcc»buLUEFEHTT?—ﬂaﬁﬂ HU |

fag ov oforede el 2, HIaR € Serar |art € 2
a b €,
On comparing the ratios 7 b and , find out whether the lines representing the following pair of
p

linear equations intcrscct at a point, are parallel or ¢coincident.
X+2y—4 = 0
2x+4dy =12 = 0

2%

13
12

Ifcos B = 1—: . find the value of cot 8 + cosec 8.
-

(]

y-318 O Jg 35 A i o 3w (6, 5) T (- 4, 3) @ FEGRY B

Find a point on the y-axis which is equidistant from the point (6, 5) and (- 4. 3).

Jar (OR)
fargatl (4, - DR (-2, = 3) BT Te7 I YWEvE @ 9y faeg @ Pidwie o I
Find the co-ordinate of mid point of the line joining points (4, — ) and (- 2, - 3).

ETMWWWFTE@FEHW‘&"W?Iﬂ%’ﬁﬂ?ﬁl‘?ﬁﬁlwm#a‘ﬂu‘ﬁ?—
0.62 B X & A B wifasa @ar & ? 2

Two players, Sangeeta and Reshma., play a tennis match, It is known that the probability of Sangeeta winning

the match is 0.62. What is the probability of Reshma winning the match.

AT (OR)
U 3 F 3T $R 3B L €1 3N 99 # 9 U N3 ogsdl ATl o § | g9 aifie
Far 2 & g ona B 7
A bag contains 3 red balls and 3 black balls. Aball is drawn at tandom irom the bag. What is the probability
that the ball drawn is red.
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15. 539 B &1 g g it ) d ¢ 8 9 R Rera @ Reg @ g w et Yar g oY e
S| 2
Draw a ¢ircle of radius 5 cm. I'rom a point 8 cm away from its centre, construct the pair of tangents to
the circle.

16. gfaers fPe TR &1 WarT av@ 4830 a1 759 &1 HCF $1ma $ | 3
Uising Euclid's division algorithm, find HCF of 4830 and 759.

FA4q1 (OR)

fag IR 5 6+ V2 & uRAg wveam 2

Prove that 6 ++/2 is an irrational number.
17. W Q) HEg sra BIRTg R aeT 27 3R OETe 182 BT 3

Find two numbers whose sum is 27 and product is 182,
18, Wrﬁwﬁl+%=5m——-;_b o 5 B 3

o &
Solve the equations : A A 5 and LI A 6.
7 3 2 9

19. S8 Fafar At (AL) & B 22 ugt &1 anT sa afore, et d =73 22af 92 149 %1 3
Find the sum of first 22 terms of an A.P. in which d = 7 and 22nd 1erm is 149,

2 aﬁﬁrt_f : 08 i : 3

20. g cosA  T1+sinA _ 2sec A http://www.ukboardonline.com 7
Prove that : 1+sinA  cosA

Far (OR)
fiz BT e
“ (sec A + tanA) = Lt bfn A
Prove that : 1-sinA

21. 39 frg & PAdenre gra SR ot fRgadl (6, -9) AR (4, 6) @ faam ara YErave @t 304 # o
fararfora @=et &1 3
Find the co-ordinates of'the point which divides internally the line joining the points (6,--9) and (4, 6) in the
ratio 3 : 4.

22, TR (1, 1),(7.-3).(12,2) &7 (7,2]) v o & €t & s & a7 g R ¥ agis @
gEm 132 a7 5raw gy 3
I€¢], 1.(7, -3).(12, 2) and (7, 21) are the co-ordinates of the vertices of a quadrilateral. prove that the arca
of quadrilateral 1s 132 square unit.
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23 ABCD U@ wHe 2 R AB | DC & 9o 5973 i wer Ry 0w o n
sfresg avd & | g difvg %=%. DL, 3

ABCD is atrapezium in which AB || DC and its diagonals intersect each ather at the point O). Prove that

AO _ CO
BO DO’

24 qaﬁ:qnﬁf%gmm(ﬁwwﬁgmﬂmaﬁﬁm,ﬁmﬁwmnﬁﬁgﬁraﬁﬁﬁ

Ll

3L
AT @I 7 @

-

2
Construct a triangle similar to a given triangle ABC with its sides equal to 1 of the corresponding sides of'the

triangle ABC.

]
LA

. for & prifer s @7 éee e B, AR I 0 T B wIER gt A
ot wae: 7 0 AR 14 10 & 91 LAOC = 40° ¥
Find the area of (he shaded region in figure. if radii of the two concentric circles with
centre O are 7cmand 14 em respectively and £AQC = 40°.

HUET (OR)
U N gl W 8 W S & AR 9 SR A Bioar 2 94 4 vig ) Reerex te e @
WY ¥ AT A R | A B o /e A
Aright eircular conc is 8 em high and the radius of its base is 2 cm. The cone is melted and recast into
the shape of 2 sphere. Find the diameter of the sphere.

26, viE Tt 91 HieE BT IR THS YF F Y A A TR B o) i of o A A ey wwd
g3 B A1 @i A o) S adHE amg s iR 6
Alter five years, the age of Mohan will be three times that of his son. Five vears ago, Mohan’s age was
seven times that of his son. Find out their present ages.

HAUGT (OR)

TF IS Uh 9HE T W 360 o &) 0 7 el 21 IR I T 10 B/ Tver wfis 2l
1 ug S ArH H 3 ST oW wHa ol | Yo & o s a8 |

A train travels 360 kin atauniform speed. If the speed had been 10 kmvh more, it would have taken 3 hours
less for the same journey. Find the speed of the train.
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7 flo 3 ¥aT B RGN W 0P R & RRER &1 IV dIv 60° § R WD UG & AgHHAH B

45° 2| SR A HAE T DA 6
From the top of a 7 m high building, the angle of elevation of the top of a tower is 60° and angle of

depression of its foot is 45°. Determine the height of the tower.

397 (OR)
AR @ angR A 3 TE TR @1 ¥ 100 Mo a2 150 Ho B 8 W fera < A & AR & AR
a%waﬂwwaﬁwﬁlﬁiam%ﬁﬁﬂﬂaﬁmsoﬁ Ho gt |

The angles of elevation of the top of a tower from two points ata distance of 100 mand 150 m from the base
of the tower and in the same straight line with it are complementary. Prove that the height of the tower is

SDJE m.

28, Rig BT 5 21 GwT BrEl # A5wel B IPTT T WA AfEP T FgEd B T g
gl 6
Prove that the ratio of the areas of two similar triangles is equal o the square of the ratio of their corresponding
medians.

Ferdl (OR)
e fom 3 amga ABCD @ siex e O B8 R 81 Rig @i 5 b
OB? + OD? = OA? + OC%. <
In the adjoining figure, O is any point inside a rectangle ABCD. Prove that )
OB? + OD* = OA” + OCZ. i ¢
29, WEH D (B TR T LT W ToHR € AR TR A vEraR & | A JeER 4T BT A AR
o e 126 Do 3R 5 Ao & TU TY B T HAY 21 Wo B W T B TN H YFH HUS
7 AT ST BT | Ter # 50 T ¥ T AR B IR | FUS BT A A 3@ AR 6
The lower part of a tent of a circus is in the cylindrical shape and upper part is conical. If the diameter and
height of the cylindrical part are 126 m and S m respectively and the total height of the tent is
21 m. find the area of the cloth used for making the tent. Also find the cost of the cloth at the rate of
Rs. 50 per m’.

0. fy=fafag siiee &1 aegs a i 6
Find the median for the following datz
EURCRNE :

] 20-30 30-40 40-50 50-60 60-70 70-80 80-90 | 90-100
Class interval
YRR :
4 12 14 16 20 16 10 8
Frequency
EE TR L L L
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